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��������(�����((�'��(�����*�������������	
���������	���((�������
��������
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������������(���
�����(������%$$���)�������������((���A

5�(���	�
�"�& �������"�&� �
�����(��&

�/ �� ����

�� �� ����

�. /� ��/�

�� �� ����

����4����������9$��
����((��������%$$��"�
���0���������),������'(���
������������0
��)
(������'(���+����������������0��
0�'��������4�����������0(��'��'�0�����������)�/

����
��	&�>�� )��+�
�����
��������
��"��5
��6�����������"����
���

������������8��+�
�	
����	��
�	����I��
������
�������
�����5�����6

4�������������
��
�� +���I<

'�����"�$��������
��
�� +���-<<

�������$����
������	 +���5-<<�:�I<6�+���.<

>��������
��������	��
���+���I<

���	�����
��$
�9��� +�
20 S if D S
20 D 80 (S D) if D S
= 100 D S


  



�
��
�� 80

�

����� ?�+���������
����	��
�	�	

'�+���������
������������
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3���� �
�����(��& 8��"������(�	�&4�������

�9����"�  !���5��!*�

9  ��D��/  ��D���  ��D��.  ��D���

B��<��* ,��, *,, 4�, .4, ��,

B��<��� ,�., *,, *�, 44, .�,

B.�<��) ,�*, *,, *�, *4, 4�,

B4�<��> ,��, *,, *�, *4, *�,

�����%$����	����	�����
��$
�9����
������$���	�
����������G

3���� �
�����(��& 3�	�!��"�!��"������(�	�&4�������

 ��D��/  ��D���  ��D��.  ��D���

B��<��* ,��, *, 4� .4 ��

B��<��� ,�., �*, �*� �.� �,>

B.�<��) ,�*, �*, ��, �), �.,

B4�<��> ,��, *, *� *4 *�

BRS *,, *�, 45, 4�,

'���������8�P�����
%���������
���).�����.2��
���������	�������"���5������	6
�
���	
��

�������	�����
���$$��������������
������$���	�
����������G

3���� �
�����(��& 8��"������(��		�
�%���&�(�������
 !�� �5��!*�

�9����"�  ��D��/  ��D���  ��D��.  ��D���

B��<��* ,��, , >, ��, �4,

B��<��� ,�., �, , >, ��,

B.�<��) ,�*, 4, �, , >,

B4�<��> ,��, �, 4, �, ,

�����%$����	����	�����
���$$��������������
������$���	�
����������G

3���� �
�����(��& 3�	�!��"�!��"������(��		�
�%���&�(�������

 ��D��/  ��D���  ��D��.  ��D���

B��<��* ,��, , > �� �4

B��<��� ,�., � , �4 4>

B.�<��) ,�*, �, �, , 4,

B4�<��> ,��, � 4 � ,

B67 .� �� 4� ���

'���������8&>����������������
���).�����.2��
���������	�������"���5������	6
�
���	
��
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�(���������������'��
����(������0��(0��')����������
��
���*������(���(�����((���)���-$
����������
����
��'���
���%$$��������')���((�
���(�������������(�����*��������������((
����'(�����	�'0���������(���(�������
���0'��������I0���������
)������������((��'(�������((�
�
)� �(����� (�������	� ��� ��
� ��((� ��������0
�� �0�(���� ����� 2$� �� ������������ �� �����0(
��
���������
�����������������	��������(���(��������
�����'�'�(�����������������
����
��((����A

M����(��6������
� ���'�'�(��)

%$$$������ $�7

.$$$������ $�.

-$$$������ $�%

5�6 "���0���������
�����
�(���
����)��
�������������
����)���(0���

5��6 "���0����������������������������������������������
���������

5���6 "���0�������;N���

����
��	&������$���$
�� +���1<

'�����"�$�����$���$
�� +���-<<

�������$���$
�� +���1<�5������	�$
��6

?��$��
��������"�$���� +���.<�5��������	�$
��6

>��������
��������	�$
�� +���51<�:�.<6�+���/<

���	�����
��$
�9����5$�����6�+�
50 S if D S
50 D 30 (S D) if D < S

80 D 30 S


 

 

�
��
��

�

����� ?�+��������$
����	��
�	�	

'�+��������$
����������	

5�6�������������"����	�����
��$
�9�����
�	�������$��	��"��%$����	�$
�9�����
��
���$���	�
����������G

7����(�
E� �
�����(��& 8��"������(�	�&4�������E����� 3�	�!��"�	�&4��������E����

"����" 5��!*�	�
�<��* 5��!*�	�
<��*

9 ���� ���� /��� ���� ���� /���
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� 	��
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�

�,,,�'�
�� ,�� *, 2��, 2�), ., 2�� 2�4�

.,,,�'�
�� ,�. *, �*, 5, �* 4* �)

*,,,�'�
�� ,�� *, �*, �*, * �* �*

BRS *, *4 �,
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5��6������%$����	�$��������	���$�������������
�����58��#6�������$���	�
���������G

7����(�
E� �
�����(��& 8��"������(�	�&4�������E���� F�"�
�	�
��!������
������

"����" 5��!*�	�
�<��* ���E����

9 ���� ���� /��� )����%� 3�	�!��"

	��
� 	��
� 	��
� 	�&4������� 	�&4���

��� ���� ����� ���� G�
�������
���������"�����H ����=����

�,,,�'�
�� ,�� *, 2��, 2�), *, .,

.,,,�'�
�� ,�. *, �*, ��5, �*, 4*

*,,,�'�
�� ,�� *, �*, �*, �*, �*

B����#��,,

5���6 8P�#�+�8��#�:��
%�8�P�+�-<<�:�10�+�02

����� 8P�#�+���02�<<<�

��������.&���),�����������������	��%	��2��
���.��
�����������
��0���<	�?	�B�������
��((����A

��&4�������

5�����������%
�  !��

 �  �  �

@ 1��� 1�/� ���

A ��� 1���� 1�/�

B ��� ��� ���

*������'�'�(����������������������
��0�������$�.	�$�3��
��$�.�����������()��"�(�0(���
����;KN� ���� ��������
�������
����(���� ����'����������(��� ��
�� ���� �����������(0����
���������
��������
��;N����

����
��	&����$��
���������%$����	�$
�9���

5�����������%
� �
�����(��& ��&4������� 3�	�!��"�	�&4�������

 !��  !��

 �  �  �  �  �  �

A ,�. 2��, 2�*, �,, 2�� 2��* �,

T ,�4 �,, 2��,, 2�*, >, 2�4, 2��,

O ,�. 4,, �,, .,, ��, �>, 5,

BRS �54 ��* �.,

'���������8�P�����
%���������
���)-�����)-�������������
���
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5�����������%
� �
�����(��& ��&4������� F�"�
�	�
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 !��

 �  �  � )����%��	�&4��� 3�	�!��"
	�&4���

A ,�. 2��, 2�*, �,, �,, �,,�G�,�.�#��,

T ,�4 �,, 2��,, 2�*, �,, �,,�G�,�4�#�>,

O ,�. 4,, �,, .,, �,, �,,�G�,�.�#��>,

B����#�.�,

8P�#�+�8��#�:��
%�8�P�+�/.<�:�-L0�+�-.2

����� �������������8P�#�+���-.2�

�����
�����	�����������
�����	�����������
�����	�����������
�����	�����������
�����	������

)�	�������� ����� ���
�"�
$���
����$������
�������� �����
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������
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����������������������
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����$��������	������
���"

�	���������������
��������$������
������
�����$����������	���������
��������������������
?������������������������
���������$���
�������
�����$��%�	���������
���"�����
������
*
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����	����������������	�
�������������$���������������������
������	���������
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�������
����
�	�����	���������
�������������
"��
����������������������	��������
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���������
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�	�������������
5�6 #	�������
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	��
�	�������	��������������������������
	��
5��6 #	�������������
�������������
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��������
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���	��������
5���6 ?�����$�
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��������"�����������������	���������
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�����������
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�
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��������(&�<?B�8���������
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�
�
���(���
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5�6 K�
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�
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�������((��
����'(�A

3���� �
�����(��& )��%��!�%
� 7�&�(�& 5�((�
�+#��

;�+# ���/ ���� �� /�

)�"�%� ���� �/� �� /�

-�< ���/ 1��� �� /�

M������
�����������
)6�����'(����
������������������������
�������
���0�����
������������
����������
)����0(����4���������������������

����
��	&

High

Medium

Low

High

Medium

Low

High

Medium

Low

M
an

uf
ac

tu
re

Sell rights

Royalty

200

50

–10

60

40

20

50

50

50

0.25

0.40

0.35

0.25

0.40

0.35

0.25

0.40

0.35

Rs. 66,500

Rs. 38,000

Rs. 50,000

Monetary values Prob. EMV

������8�P��������
��"��5�6��
���
���������������$���������
%������'����������
	�����������JKN�>�	���������
���
����������$������������$���������������"���$����������
22�1<<�

��������)&��������
)�������(0���
����0���(���
��������
�(�,��������
������
�
������0
���������������0�
������'������
���������������������
��)��*��������'(�����������
�������
��)��
��������������������'�'�(��)�������'0���
����������((����A

5���� $��
 ?��" ?
���

�
�����(��& ��� ��/ ���

*������0�
������������
������
��������0
��)��
�����������������������
��)�������
��((��� A

5��������3!����&
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�� ���� ��������� ���0�
� ���� ����
�(���
�������+������(���
�������
������
���������(���0(��)�0��������
�����������������
��
����)���(0����������
�������'�����(�)���/

����
��	&

Fair

Good

Great

1,000

Monetary values
(Rs.)

Prob. EMV

Fair

Good

Great

Fair

Good

Great

Fair

Good

Great

3,000

6,000

500

4,500

6,800

0

5,000

8,000

–4,000

6,000

8,500

0.2

0.5

0.3

0.2

0.5

0.3

0.2

0.5

0.3

0.2

0.5

0.3

Rs. 3,500

Rs. 4,390

Rs. 4,900

Rs. 4,750

A

B

C

D

������8�P�����������
%���������
�����
�������������������������
%�����������
�����0�L<<�

��������*&�����
������������������'�����
����������4)���
�������������
����1
(�4�����������'�'�(��)�$�7��
����3�(�4�����������'�'�(��)�$�3��������������������������(��
��
�����
����

���� ��
������������ �
����
��
�� �0������� ����� �������
�� �� .�-� (�4�������
���'�'�(��)����$�7��
����2�(�4�����������'�'�(��)����$�3��"�
���0������������
�������
�
�0�������������������������
��������0(������0��
��;KN���������
�

����
��	&

D

1

3

2

4

0.5

0.5

7

4

3.5

2

3.5

2

Monetary values
(Rs. Lakhs)

0.6

0.4

0.6

0.4

0.6

0.4

Prob. EMV

Rs. 5.8 lakhs

Rs. 2.9 lakhs

Rs. 2.9 lakhs

8�P�
����	��.�+�5.�L�F�<�16�;�5.�L�F�<�16�+���.�L��
����

������8�P��������
��"��5�6������������
�������
%������'���
�
"��������	��$�
�������5�6�
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�������C��'0)����������������������.�����������
����((�������������������-���������������

��������
�����(����������
�����������)	����
������������(���������.�����������*������()
����
������������������������((���
�����'�'�(��)�������'0���
�A

�%���
������������(" � / �

�
�����(��& ��� ��/ ���

C�����
)����������0(��������������������������()�������������������������0��/
E����������
���������������

����
��	&��������$��������+���51�:�/6�+���.

Demand 4 items
8

8

8

5

10

10

2

7

12

0.2

0.5

0.3

0.2

0.5

0.3

0.2

0.5

0.3

Rs. 8

Rs. 9

Rs. 7.5

Profit (Rs.) Prob. EMV

Demand 5 items

Demand 6 items

Demand 4 items

Demand 5 items

Demand 6 items

Demand 4 items

Demand 5 items

Demand 6 items

D

Stock 4 items

Stock 5 items

Stock 6 items

������8�P��������
��"�������	�����
%������'�����$���$��������	�������1�������
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�
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'�������������������	��������
����������"
���������>�>�������������������"
�����

�������
����
��U�����������������������9��
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���
����
����
��	�
��G
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)�����x � �� �/ �� /� �� �. �� �� /� �/

7��+���7� . / . � / � � � . �
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C����
�$���-� �x1 �+�
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3
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   �+�<�0L0
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3
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3
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R R R R R
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�/ �� �� �/ �� /� �� �� �� .� �/ ��

�� �� �/ // /� .� �/ �/ �� ��� �/ ./

./ �/ �� �� /. ./ .� �� �� ��� �/ ��
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C����
�$���-� x1 �+�
45 68 75 77 88
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5

     �+�7<�2
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5
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91  , ���� x12
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5

95 6  .
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